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1. Attempt parts : 4×10

(a) Find A–1 if :

198

765

432

A 4

(b) Define Hermitian Matrix and give an ex-

ample. 4

(b) Find the derivative of 7½

)2x()1x(

x
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2

.

6. (a) Evaluate  : dx
)x1(

x
3/13

8

. 5

(b) Evaluate  : dx
xa

xa
. 5

(c) Evaluate  : dxxtanx 1– . 5

7. (a) Evaluate 7½

dx4xtanxtan.xsec 2

(b) Prove 2log
4

d2sinlog
4/

0
7½

8. (a) Solve 0dx)yx(ydyx2 7½

(b) Solve 0ylogx
dx

dy
ylogy 7½

9. (a) Solve (3y–2xy3) dx + (4x–3x2y2)dy = 0

7½

(b) Solve 22

2
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(2) (3)

(c) Define Symmetric and Antisymmetric Ma-

trix with help of appropriate example. 4

(d) If y = (ax+b)p/q, find 2

2

dx

yd
. 4

(e) Find differential coefficient of cot–1 x by

first principle. 4

(f) Find differential coefficient of sin [cos(tanx)].

4

(g) Integrate dx
x2cos1

1
4

(h) Integrate : dx
)x1(

xtan
2/32

1–

4

(i) Find the solution of differential equation

1)xy(tanx–
dx

dy

(j) Solve 2

33

xy

yx
dx
dy

4

2. (a) Write the following matrix sum of Sym-

metric and  Skew-Symmetric Matrix.

505

432

171

A 7½

(b) Find the value of K for which the follow-

ing system of equation is consistent.

3x
1
– 2x

2
+2x

3
 = 3, x

1
+ kx

2
–3x

3
=0,

4x
1
+x

2
+2x

3
 = 7 7½

3. (a)
210

302

121

A

234

200

113

B 7½

verify that (A+B)2 A2+2AB+B2

(b) If x, y, z all are different and if

;0

z1zz

y1xy

x1xx

32

32

32

7½

Prove that xyz = –1.

4. (a) Differentiate  xcot  from first principle.

7½

(b)  Find 
dx

dy
 if 

22
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tany

7½

5. (a) Find differential coefficient of xtan .
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